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 Autograph Activity

Solving Trig Equations – Introductory Example: sin2x=½
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 Open a new graph page on Autograph in Standard Mode
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 Enter equations y= sin2x, [image: image4.png]


 choose Autoscale then [image: image5.png]


  add Eqn. y = 0.5
The object of this exercise is to find all points where sin2x = 0.5 (
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  Enter equation x = a (for answer!) and then use the Constant Controller:
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 Change ‘a’ (use ‘step’ 5) until you line up with ‘solutions’ to sin2x=0.5 
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[image: image10.wmf] Write down all x-values where sin2x = 0.5 (only one is shown above):

       (i)   x =            (ii)    x =              (iii)    x =               (iv)    x =           

 

	When solving ‘trig equations’ (i) set out each step and (ii) sketch a graph:


	
[image: image11.wmf] Copy and complete the following:
   sin2x = 0.5

   2x = sin-1 x

   2x = 30  (using calculator)

   2x = 30, (180-30), (360 + 30),
     x =     ,         
Check your answers with above!
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and 150, 390, . . . etc
and also -210 etc!
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